
it te flex of evator field F though a closed ourfaces
is equal to the integral of the div(F) over the entire

enclosed volume 'V
.

↑ inner parts are cancelled out

-SSSOFdV = Snd : if we out the grid fine enough .⑳-

Flux through S
-

so what we left is the flux .

~ densing
Mass conservation in volume Total mass in V = SS) pa p(x,y,z ,+)

Spar = -(SpEdS + SSSQN .
source

=
- SS . PFdV

F =[] SS + 5 .PF1)dV = 0 Truefor all volumes V

=> + E . (PF) =0 mass continuity egt .

= Q

= (f) = xpF,
+ EjpetpE3

= Rx Fi + pTix + PyFz+ PEzy + 9253 + 9E3z
= p(B . F) + (xp) . F

If fluid is incompressible , then p = constant
.
E=0 and Xp=0

= + PF) + (p). F = 0 = E.F = 0

# a measures the amount of rector field going parallel with n (flux flowingout)

SupposeIn open
[IR" and O :C h+IR" is diffble at

every pt of en
. Iff is a real valued

function defined on SC2)
,

then Socifinidu = So f(01) Ide+ o xildy


